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cos 'x=y <> cosy=x and O0=y=g7

cos 'fcosx)=x forO0=x=m

cos(cos 'x) =x for—1=x=1
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[10] y=csc™'x (|x|=1) < csey=x and y€ (0, 7/2] U (m, 37/2]
v=sec x (x| =1) < secy=x and y€ [0, w/2) U [m 37/2)

y=col'x (xER) <> coty=x and y€E (0, n)

Derivatives of Invegse Trigonometric Functions
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m Exercises
=

1-10 Find the exact value of each expression.

a) sin '(0.5) (b) cos I(—l]
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method as for Formula 3.

. : Jd [“ . ~
17. Prove Formula 6 for the derivative of cos™' by the same @ @OV\J pg, = s v )(]
&X
18. (a) Prove that sin 'x + cos 'x = /2. '3‘/14"0\/7 de,?/'/\ow\ .

(b) Use part (a) to prove Formula 6.
19. Prove thuli {cot™'x) = — I -
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22-35 Find the derivative of the function. Simplify where )
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36-37 Find the derivative of the function. Find the domains of

the function and its derivative.
9
G (x) = arcsin(e”) ‘3]". g(x) = cos™'(3 = 2x)
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r 1
' de=sin"x +C

59-70 Evaluate the integral.

de=tan 'x + C
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